W | L% /\ R TRENDIUM POOL PRODUCTS INC. Tel: (514) 363-3232 Page 1 of 1

= = o U B 7050 SAINT-PATRICK Fax: (514) 363-1772
LASALLE, QC CA H8N 1V2

Content Sheet
- 771833796 -- 7/7 1833 796 REGENCY
DESCRIPTION

4 1325315 RESIN TRANSITION TRACK CUT ONE END @ 54-1/8"
16 1514215 BOTTOM RAIL STR SIDE CHAMPAGNE 42.436"
20 1525515 BOTTOM RAIL 15' REGULAR CHAMPAGNE L 55-1/4"
10 20526 STEEL STRAP GALVANIZED BRACELESS 26.00"
15 20560 STEEL STRAP GALVANIZED BRACELESS 59.750"
10 20802 HORIZONTAL SLEEVE GALVANIZED 17"

10 20810 HORIZONTAL SLEEVE GALV WITH PEN NUTS 17"
30 B38X16X34 SCREW \ TRUSS \ QUADREX\ 3/8-16 \ 3/4" \ 18-8 SS

10 CB777-26100AB LEDGE COVER REGENCY CHOCO BROWN

1 0 CB777-261000V LEDGE COVER 6.5" RESIN CHOCO BROWN STRAIGHT LARGE HALF OUTER [F41]
10 CB777-26300A CROWN/JOINER PLATE PLAST REGENCY CHOCO BROWN
10 CG20668A PLASTIC JOINER PLATE CONQUEST COGNAC MOD
10 CG21120A PLASTIC JOINER PLATE ZENITH COGNAC

10 CG211208 PLASTIC JOINER PLATE ZENITH COGNAC BOTTOM
30 N38X16S NUT \ HEX \ 3/8-16 \ 18-8SS

1 SACCAPCHT777-20 BAG 20 KIT PLUG REGENCY

1 SACFW10X34S-85 BAG 85 FLAT WASHER 10 X 3/4" FENDER

1 SACSJF-4 HARDWARE KIT BRACELESS (4x"T")

1 SACSJF-6 HARDWARE KIT BRACELESS (6x"T")

1 SACSP625X250-20 BAG 20 PLASTIC SPACERS 0.625" X 0.250"

1 SACV12X34-86 BAG 86 SCREW 12-3/4 STAINLESS

1 SACVHL12114-105 BAG 105 SCREW 1 1/4"-12 PAN WAS/PH HI-LO

1 SACWBI36876 SAC DVD D'INSTALLATION TRENDIUM

Packaging
2 BTE601713 BOX 60" X 17 1/2" X 13 1/2" TOP/BOTTOM 200BC PRINTED
NOTICE:  Please make sure you save this document with your original pool purchase records. It contains

vital information to assist us in identifying your pool should you ever need assistance.



	WG-ContentSheet-I 4512_14456_{31FC8C70-E41A-4254-8BF7-BD70DFF39211}.rpt
	Piece Parts
	Packaging


